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The properties of the Double integral (<3 Jalsill al 53 (6-5)
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EX1:- Find the area between the curve y = x® and the x-axis of [2 ,4 ]
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EX2:- Find the area between the curve y = x-1 and the x-axis of [-1 ,2 ]
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EX2:- Find the area between the curve y = x>-3x*-x+3 and the x-axis of
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EX1:- Find the area between the curve x=8+2y-y* and the y-axis of [-1,3 ]
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EX1:- Find the area between the curves y1=x2 and y,=1/x in the travel [0.5,2 ]
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EX2:- Find the area between the curves y;=2x and y,=x"

Yi=Y,

2x=%x> > x> =2x=0

X(x-2)=0—>x=0,x=2
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EX3:- Find the area between the curves y=(x)"?and 2y*=3x
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EX1:-Find the volume of solid oblaind by rotating the region under the curve y=(x)*?

From 0 to 1 about x-axis
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EX2:-Find the volume of solid that results when the given en closed by the given region
the curve about the x-axis y;=x%, y,=0, x;=0, X,=2
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EX3:- Find the volume of the solid that results when the region enclosed by cueves
y=1+x%, x=1,y=9 is revolted about y-axis
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Jy-1=1->y-1=1
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EX4:- Find the volume of the solid that results when the region enclosed by cueves
X=y?, x=y+2 about y-axis
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Theorem:-

If f(x) is smooth function on [a, b] then the arc length = L of the curve y=f(x)from x =a
to X = b is defined by:-
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EX1:-Find the arc length of the curve y =2x
1/ using [1,2] from x-axis
2/ using [2,4] from y-axis
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EX2:-Find the arc length of the curve y of [0 ,1]
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EX3:-Find the arc length of the curve y of [0 ,1]
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Q1/ Find the integral of the function
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Q4/ Find the Double integral of the functions

N

N ey N

1| [ (x* +x°y®)dxdy

[N

X

e” ydxdy

N
N | P C— 0 |

w“_x'—‘p

*k il gliw



Q5/
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Q6/ Find the Double integral of the functions
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Q7:- Find the area between the curve y=x* and the y-axis of [1 ,2]



